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Multiplication Mazes (Multiples of 2)

Name:

Deter mine the multiples of 2 to find your way through the maze. Remember the numbers must be touching even
if itsjust by a corner. Watch out for distractors (numbersthat are multiples of 2, but not touching). Start at [

and finish at [J.

9|5 |12, 7|20|17|12| 9 |15 3 |17 (17|21 | 3

(Jy17|15|17 21|17 (13| 7 |15|18| 9 | 3 | 1| 7

3|/14(10(14|110|11|11| 7 |19| 9 |20 8

15|15 7 |21 9 (10| 4 | 16 17 | 20 13

17 | 10 20119(19|13| 7 511 |18|13|15

4 | 9 |17]15 1 (13|18 |17|115|15| 5

18 (15| 7 | 17 8|15 312|117 |11

12 | 15| 15 18| 15| 9 11115| 2 | 17

3120| 7 19|17 8 | 1 161013 |11 | 4

15/ 9 |120(16|210| 3 |15 1 (11|11 | 7 |17 | 3

17|77 |17|12| 7 (17|13 |17| 5 |11| 18| 8

15/ 6 |10| 3 15{18 (14|21 |(11|15|10| 11| 13

13 1 |13|10 911|11|10|15| 3 5 |11

23|11 |11 18|10 (18|17 | 7 |12 | 7 | 18| 2
5|7 |15)0)]19|3|1|5|14|15(19| 2 (21|15
8 | 15 17115 9| 7 |10| 4 | 13| 13 13| 13
16 6 | 1|10 7 10| 1 |16 21| 7
5 13 12| 5| 2 | 17 15|13 | 19
19|16 | 8 519 (11| 2 4 |12 7 |9
8| 5|17|113|(15|14|16(13|11|12|18|10|16| 11
3/6|11,3|5|7|19(13|15| 3|10 8| 8 |15
1517 | 2 14 | 18 2006 |15 1 11|15/ 15
9 3 (19|11| 3 |19 13 2 (11|120(15| 20
0]2|6 (2111|1713 9| 7 |16|13 (11|10 3
1913 | 22 711211913 5| 8 13| 6
91| 9|17 13|11 3 |14|16| 21 18

211 3|20(13|11|10|15|1|1|10|13| 1 |10
6| 9|15(17|10(16|15| 5 |19|12|19|11 |11 |12
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Multiplication Mazes (Multiples of 2)

Name:

Answer Key

Deter mine the multiples of 2 to find your way through the maze. Remember the numbers must be touching even
if itsjust by a corner. Watch out for distractors (numbersthat are multiples of 2, but not touching). Start at [

and finish at [J.

9|/5|12|7|20|17|12| 9 |15 3 |17 (17|21 | 3

(Jy17|15|17 21|17 (13| 7 |15|18| 9 | 3 | 1| 7

3114|1014 |(10| 11|12 7 |19| 9 |20 8

15|15 7 (21| 9 |10| 4 | 16 17 | 20 13

17 | 10 2019|1913 7 5111813 |15

4 | 9 |17 |15 113|118 |17|15|15| 5 D Not aMultiple

18| 15| 7 | 17 8 (15| 3 |12|11| 7 |11 )

12 | 15| 15 18| 15| 9 11|15 2 |17 | 4 D Distractor

320/ 7 19(17] 8 | 1 16|10 13| 11| 4 | L] Correct Path

15/ 9 (20(16|10| 3 |15| 1 |11 11| 7 (17| 3

17|77 |17|12| 7 (17|13 |17| 5 |11| 18| 8

15| 6 |10 | 3 15|18 (14|21 (11 |15(10| 11| 13

13| 1 13|10 9(1|11|10|15| 3 511

23|11 |11 18|10 (18| 17| 7 |12| 7 | 18| 2
5|7 |15)0]19|3|1|5|14|15(19| 2 (21|15
8 | 15 17|15, 9| 7 (10| 4 | 13| 13 13| 13
16 6 |1(10| 7 [10| 1 |16 21| 7
5 13 12| 5| 2 | 17 15|13 | 19
19|16 | 8 519 (11| 2 4 |12 7 | 9
8 | 517113151416 |13 |11(12|18| 10|16 | 11
36 (11| 3|5|7|19|13|15| 3|10, 8| 8 |15
15| 7 | 2 14 |118| 7 |20| 6 | 15| 1 (11|15 15
9 3 (19|11| 3 |19 13 2 (11120(15| 20
(012|621 |11|17|13| 9| 7 |16|13 (11|10 3
1913 |21 7112|1913 5| 8 13| 6
919 |17 13|11 3 |14|16| 21 18

21 3(20(13|(11|10(15| 1| 1|10|13| 1 |10
6 | 9|15|17(10({16|15| 5 |19(12|19|11|11 |12
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